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w B % A B o B Gerwmn | GerwEm | Getwmn | s | SR
A ug/m’ 0. 58 0. 68 0. 68 0. 65 0. 66 — 3
A= R=E= ug/m 0. 031 0. 30 (0. 004) 0. 024 0. 020 — 200
FhIrsnuxFLo ng/m (0. 0051) 0. 037 (0. 0033) (0. 0049) (0.0063) — 200
ran ARy 1 g/m° 0. 68 0.79 0.67 0. 66 1.8 — 150
TrUu=hUL [ g/m° 0. 027 0. 063 0. 68 (0.015) 0. 052 — 2
Wik =L E )~ — ug/m* (0. 0062) 0. 025 0. 034 0.010 0.013 — 10
VA=2=F: V2PN g/m® 0.16 0.17 0.21 0.13 0.17 — 18
L2—Y7upxHy g/m® 0.14 0. 22 0.23 0.17 0.15 — 1.6
,3—7 % vx 1 g/m° 0. 043 0. 055 0. 20 0. 036 0. 055 — 2.5
KRR N DAL A W n ghg/m’ 1.2 1.6 1.4 — — — 40
= 7 LA * n gNi/m’ 3.5 — 2.8 2.4 — — 25
b # RO DA W* n gAs/m’ 1.2 — 1.1 2.2 — 3.5 6
~ U H 2 RO DAL A n gMn/m’ 32 — 14 33 — — 140
T R TATE R g/m® 1.2 1.6 1.7 2.3 — — 120
b= F L ox 1 g/m° 0. 036 — 0. 056 — — —
Ry (a) B Lk n g/m’ 0. 099 0.12 0. 094 — — -
RIVAT LT B K% 1 g/m* 9.4 2.4 4.8 6.9 — —
RY Y AROZEOAY* | ng/m’ 0. 084 — 0. 027 0.023 — —
7 a AR OFEOEY* | ng/m 4.0 — 2.0 3.6 — —
Hifk x F v g/m® 1.4 1.5 1.5 1.4 1.6 — 94
2= 1 g/m° 6.1 2.9 2.9 3.2 10 —
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